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14. NaTtHbiNbIMLIE YPOK: Mapuii-BNaK MOM KOUKbIT?

l. Text

Mapuinl  KanblKblH W/bIWbI)KE OXHbICEK NYPTYC AeHe KblAJaNTblH, CagnaH TyablH
KOYKbIWbIWTbIXKAT YoAblpa MOAHbIK WKe NanbiKbiM KogeH. LLUowbim mapuin-snak Typnod
WyabiM (MOYKANTLIWbLIM, WMHYANAHWYAbIM) MOTreHbIT A3 WYPbIM LWOATEHbIT. Thirai Wwyp
BUTAMMHAAH MOAH A3 TasanblkKNaH nangane NniibiH. KeHeXbiM a3 WbIKbIM KO/l A3 NOHTO
LIYPbIM KOUYKbIHBIT, BET Mapuii KyHAembIlWwTe sHepbiwTe TYpAO-TYpAO KO Y0, a Yyoabipalwte
WYKO NOHTO woyew. LLbin WwiypbiMm 0XKHO TeNbIM Bee KOYKbIHbIT, @ KbI3bIT — Mgasblk My4Ko.
Mapuin-Bnak WONO Aa WKMHYANTbIME KOYKbIWbIM 3pe MOPATeH KOYKbIT: LWYbIKTbIMO
KOBbILWITAM, LWWHYANTbIME MOHTbIM, KMApbiM. LLUOp Aa MYHO KOYKbIWAT MapUin-BNAAKbIH
yctembanHbIlWT  YYYKblAbIH  AMega:  MNOAKOrbIIbO,  My/AalKaMyHO,  Ca/IMaMyHoO,
MYHbIAYBbIPTbILW, Tyapa Aa Monar.

A napemnaH MOM rblHa Mapuii BaTe OK KYaWT: wWemwblgaH an’e Wynb0 menHam,
KOMaHMenHaM, TYpAnd KOrbiibbiM, nepemeybiM (HOWMO, napeHre, TOPbIK Mepemeydbim),
arepybim, yayam. TOWTO MapuUibiH Mynaxke novyew OpbEH BaTblH YCTa/bIKLWbIM MeHAM
KYaWTMme AeHe TepreHbiT.

KanbikmyTr
Lynao KonbiH neme Lwono.
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Aa monat
UAbILW
nopateH
nyna
Kuap
KOBbILWTA

Kogauw (-em)

Kon
KyHOem
Kblngantau (-am)
nem

nvepau (-em)
MOJI0
MYHbIAYBbIPTbILL

MYYKO

HOLWIMO
OKHO

OXHbICeK

opbeH BaTe
nanpane
nane
nepemey

NOYKaNTbILW

&IOHH

only /see IV.1./
and others, et al.
life

/see IV.6./
custom(s)
cucumber
cabbage

to leave (tr.)
/see 8.IV.6. (page 128)/

fish

area, region, district
to be connected
broth, bouillon

to be, to happen
other, another

milk soup with egg

along, through,
throughout

seed, hemp seed
earlier, long ago

for a long time, since
early times

young married woman
useful, beneficial
mark, sign

(curd) tart, (curd) roll
nettle

rich

NOAHbIK
nynawKkamyHo
nypTyc
cagnaH
ca/IMamyHo

Teprauw (-em)

TOLWTO
TOLUTO Mapui
Tyapa
TYBbIPThILL

TYpNO-TypNd

Tbiran

yCTanbiK
yctembanHe

yaya
WwemwblaaH
LWMHYaNaHLWyA[o
WKHYanTaw (-em)
WWHYaNTbIMe
LwKe

WybIKTaW (-em)
LUYbIKTbIMO

wyp

aHep

ape

~

riches, fortune, wealth
omelet

nature

therefore, thus, consequently
fried eggs

to check, to inspect,
to examine

old

ancient Maris, forefathers
curd cake, cheese pastry
curds

all kinds of, various,
diverse /see IV.2./

such a (one), this kind
(of) /see IV.5./

skill, mastery

on the table /see IV.4./
small round loaf of bread
buckwheat

sorrel

to salt

salted, salty

(here:) own

to ferment, to pickle
sour, fermented, pickled
soup

river

always /

Ill. Grammar

1. Temporal adverbs in -cek:

This suffix can be added to a few words with a temporal meaning to indicate the beginning of
something, i.e., answering the question ‘since when, how long’. The most important
formations are listed below. (This suffix is not productive, i.e., one should not attempt to form
other words with it.)
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KyHam when? KyHamceK since when?
TYHam then TYHamcekK since then
Ukeue the last time; not long KeUCeK since the Ia_st time;
ago for a long time
OKHO earlier, long ago OXKHbICeK from olden times
TeHreve yesterday TEHTeucekK since yesterday
ymawrTe last year ymawcek since last year
LwyKepTe long ago LIyKepTCcekK for a long time
apLeHe morning spAaeHbICeK since morning

Note in addition the postposition eodcex ‘since’, e.g., ap 20dcek ‘since morning’, woymo

2o0cek ‘since birth’, usu 2odcek ‘since (one’s) early years’, Kok uli ecodcek ‘for two years’.

2. Verbal derivational suffixes:

a) -azm (conjugation 1): This suffix is used to form passive, intransitive and/or reflexive verbs.
In this function, it is fully productive — it can be freely attached to a very large number of

verbal stems. It will be discussed in greater detail in 22.111.2. (page 286).

Kblngauw (-em)

to connect (tr.)

KblnganTauw (-am)

to be connected

Aamapinaw (-em)

to prepare

Aamapliantaw (-am)

to be prepared, to
prepare oneself

Bo3al (-em)

to write

BO3anTawW (-am)

to be written

netbipaw (-em)

to close (tr.)

netbipantau (-am)

to close (intr.)

Tl «ew» MyTbIM MO AeHe KblngaeT?

What do you connect with the word
“family”?

LLlyko NYMNO eHbIH UAbILwbKe MowwKap-
Ona geHe KblnganTbiH.

The lives of many famous people were
connected with Yoshkar-Ola.

JuaH, ypokeTbiMm amabine!

Echan, prepare your lessons!

YpoKnaH amablianTtall Kyaew.

You should prepare yourself for your
lessons.

LLIy>Kapem y Nbecbim BO3bIHEXKE.

My little sister wants to write a new play.

Mapwuit niym Opmék pywna Epmek cembliH
BO3ajaTeLl.

The Mari name Ormok is written as Epmex
in Russian.

Omcam netblipe.

Close the door.

MNoespn woranew. Omca noybiatew,
neTblpaaTeL.

The train stops. The doors open and close.

b) -aam (conjugation II): This suffix is used to form momentary verbs that denote short or

repeated actions. It is not as productive as its first conjugation counterpart above.

KaHau (-em) to rest KaHantau (-em) to rest, to relax
LoHatl (-em) to think WwoHanTaw (-em) to think, to consider
By4all (-em) to wait By4Yantaul (-em) to wait (a little)

c) -ed (conjugation II): This suffix is mainly used to form frequentative verbs from other verbs.

It is not productive.
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nvau (-am) to be, to happen nvepau (-em) to be, to happen

nyauw (-am) to give nysgauw (-em) to give, to hand out

KowTaw (-am) | togo KowTeaaw (-em) to stroll, to wander
3. Participles:

Participles are verbal nouns that can be used as adjectives, but also in numerous other
functions. Mari has a total of four participles, which play a major role in the syntax of Mari
sentences. In this lesson two of them, the active and the passive participles, will be presented.

a) Active participle:

al) Formation: The suffix of the active participle is -wo/-we/-wé, with the variants being used
in accordance with the rules of vowel harmony. The suffix is added to the verbal stem. Since
this suffix begins with a consonant, the verbal stems of first conjugation verbs ending in
certain consonant clusters are automatically simplified, see 6.1ll.1. (page 98). In the verbal
stems of the second conjugation, the usual change -e/-0/-6 > -bi occurs before the suffix is
added.

Conjugation |
Infinitive Verbal stem Active participle
nypauw (-am) to read nya- nyawo
TyHemau (-am) to learn TYHEM- TyHeMLle
nypauw (-am) to be afraid of nya- nyawo
KOuKal (-am) to eat KOYK- (> Kou-) Ko4uwio
WwrHYaw (-am) to sit down WWHY- (> Wwny-) wu4we

Conjugation Il

Infinitive Verbal stem Active participle
KyTbipall (-em) to speak KyTbIpO- KYTbIPbILIO
nnauw (-em) to live nne- Wiblle
Tynauw (-em) to pay TVNO- TYNbIWO
KaAw (-em) to go Kae- Kalblwe

a2) Usage: In many cases the Mari active participle corresponds to an English verbal form
ending in -ing.

1) The active participle is often used as an attribute positioned before a noun. (English would
generally position the -ing-form after the noun, or use it in a relative clause.)

KHMIam Jyauio moya-Bnak children (who are) reading a book
nallall BaLIKbILWE TYHbIKTbILIO teacher (who is) hurrying to work

2) It can appear as a nominal predicative.

My grandfather read a lot (was a great

Koyam new wyko nyauo bin’e.
y reader).
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3) Many active participles have also been substantivized, i.e., they can be used as nouns.

Infinitive Active participle Translation
nypaw (-am) to read Nyawo reader
TyHbIKTaW (-em) | to teach TYHbIKTbILWO teacher
TyHemauw (-am) | to learn TyHemLe pupil

b) Passive participle:

b1) Formation: The suffix of the passive participle is -mo/-me/-m6, with the variants being used
in accordance with the rules of vowel harmony. The suffix is added to the verbal stem. Since
this suffix begins with a consonant, the verbal stems of first conjugation verbs ending in
certain consonant clusters are automatically simplified, see 6.1Il.1. (page 98). In the verbal
stems of the second conjugation, the usual change -e/-0/-6 > -b1 occurs before the suffix is

added.

Conjugation |
Infinitive Verbal stem Passive participle
nypauw (-am) to read nya- nyamo
Hanauw (-am) to take, to buy Han- Hanme
yKaw (-am) to invite VK- YARMO
KOuKau (-am) to eat KOYK- (> Kou-) KOYMoO
WwrHYaw (-am) to sit down WWHY- (> Wny-) wu4yme
Conjugation Il
Infinitive Verbal stem Passive participle
Bo3al (-em) to write BO30- BO3bIMO
noparaw (-em) to love, to like nopare- nopatbime
Tynauw (-em) to pay TVNO- TY/1bIMO

b2) Usage: In many (but not all) cases the Mari passive participle corresponds to an English
past participle.

1) The passive participle is often used as an attribute positioned before a noun. (English would
generally position the past participle after the noun, or use it in a relative clause.)

KO/bILUTMO MYT
Hanme nonek

the word (which has been/was) heard
the present (which has been/was) bought

2) It can appear as the predicate of an impersonal, passive sentence. Note that the past
participle can also have an accusative object in such constructions.

Ivuk’s father was written about in the
newspaper “Mari EI”.

The door is open. (The door was/has been
opened.)

«Mapuin In» rasetell VIBYKbIH ayax
HepreH BO3bIMO.

Omcam no4ymo.

In such cases the passive participle is negated with ozbi.
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— CepblLlWbIM BO3bIMO? — Has the letter been written?
— YKe, BO3bIMO OrblJI. — No, it hasn’t been written.

Note the usage of the accusative in sentences of this sort (omcam noumo). The passive
participle retains the government of the finite verb.

3) Some passive participles have also been substantivized, i.e., they can be used as nouns
referring to a thing or person that was the object of an activity.

Infinitive Active participle Meaning
nanaw to know nanbime acquaintance
nopaTaL to love nopatbime darling, beloved

4) In many cases, the passive participle is used as a generic adjectival form of the verb from
which it is derived, without passive semantics. Note the following examples: wouymo keuye
‘birthday’, uneime sep ‘place of residence’, koumesisep (< koumo gep) ‘dining facility, cafeteria’.

5) Passive participles can be used as nouns that refer to the action as a whole (rather than to
someone or something that was subjected to an action). Nominal forms of this sort quite
often do not have passive semantics. They can occur as subjects, objects, or in combination
with postpositions. The subject of the activity denoted by a participle can be marked with a
possessive suffix.

MoyuaH KbluKblpanmbixe KymaaH weprbinte. | The child’s crying could be heard all around.
TonmeTbIM Byyem. | am waiting for you to come.
MeJIHaM KY3LITMeE Aed KaHaal waraT oHubiY | eight hours before baking the crépe

The usage of the passive participle as an object and with postpositions will be revisited in
16.111.6. (page 214), its usage as a subject will be revisited in 29.111.3. (page 366).

6) Passive participle + possessive suffixes and wyaw (-am) ‘to arrive, to come to’: This
construction, consisting of the passive participle with a possessive suffix and followed by a
third person singular form of the verb wyaw, is often used to express ‘to want to do
something; to feel like doing something’. As is also the case with nominals, the possessive
suffixes can be used in conjunction with the genitive forms of the personal pronouns or the
genitive forms can replace the possessive suffixes altogether (koumem ~ meolliviH Koumem ~
MbIlibIH KOYMO).

Passive participle + possessive suffix
KOYKall > KOUMO nyaw > Mymo
1Sg | koumem nymem
2Sg | KoumeTt nymer
3Sg | KoumbiKO NYMBbIXKO
1Pl | KoumbiHa MymbiHa
2Pl | Koumbiga nymblaa
3Pl | KOumbIWT NYMbILIT

Examples of the complete construction: (‘1 (don’t) feel like eating. | would (not) like to eat’,
etc.)
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Positive

Negative

1Sg | (MbIlibIH) KOUMeM Luy3L.

(MbliibIH) Koumem orew (oK) wy.

2Sg | (TbifibIH) KOUMET Luy3L.

(TeIMbIH) KOUMeT oreww (OK) Lwy.

3Sg | (TyablH) KOUMBIMKO LY3LL.

(TyapbIH) KOUMBIXKO oreLw (OK) Lwy.

1Pl | (MemMHaH) KOYMbIHA WYy3LL.

(MemHaH) KoumbliHa orew (oK) wy.

2Pl | (TeHaaH) Koumblaa LWy3LW.

(TeHgaH) Koumblaa orew (OK) Lwy.

3Pl | (HyHbIH) KOYMbILWIT LWYy3LI.

(HyHbIH) KOuMbIWT oreww (OK) Lwy.

OnalkKe MblIMblH KalbiMem Ly3L.

| feel like going to the city.

OnalKe MbINbIH KallbimeM orewu Ly.

| don’t feel like going to the city.

4. Simple past tense |l:

Formation (positive): The basis for the positive simple past tense Il is the gerund in -H — see
9.1ll.1. (page 138). Note that for first conjugation verbs the basis is always the full form in -6iH
(i.e., the short form without this ending is not used when forming this tense). Second
conjugation verbs have the usual ending in -eH. The following endings are added to this basis
in both conjugations. Note that in the third person singular there is no further ending, i.e., the

simple past tense Il consists of the gerund in -+ alone.

1Sg | -am
2Sg | -at
3Sg | -

1Pl | -Ha
2Pl | -pa
3Pl | -bIT

Conjugation |

nypaw > nyapiH KOYKalll > KOYKbIH Hasalw > HaNblH
1Sg | nyabiHam KOYKbIHaM HaJiblHam
2Sg | nyabiHat KOYKbIHAT HanblHAT
3Sg | nyabiH KOYKbIH Ha/bIH
1Pl | nypbiHHA KOYKbIHHA Ha/blHHA
2Pl | nyabiHApa KOYKbIHAA HanblHAA
3Pl | nyapiHbIT KOYKbIHbIT HaNbIHbIT

Conjugation Il

unaw > nneH nypaw > nypeH BO3alll > BO3eH
1Sg | uneHam nypeHam BO3eHam
25g | nnenat nypeHart BO3eHar
3Sg | wneH nypeH BO3€eH
1Pl | nnexHa nypeHHa BO3eHHa
2Pl | unenHpa nypeHaa BO3eHAa
3Pl | uneHbIT nypeHbIT BO3EHbIT
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Formation (negative): The negative forms of the simple past tense Il are formed with the
gerund in -H followed by the negated present tense forms of yaaw ‘to be’: ombin, omein,
02bls1, 02biHAs (0HAn), oebidan (0dan), ozbimein, see 7.111.2. (page 110).

nyaai > nyabiH

BO3all > BO3eH

1Sg | nyabiH ombin BO3eH OMblJ
2Sg | nyabiH oTbIN BO3€H OTbIN
3Sg | nyabiH orbin BO3€H Orbl

1Pl | nyabiH orbiHan (oHan)

BO3€eH orbiHan (oHan)

2Pl | nyabiH orbigan (ogan)

BO3eH orbigan (oaan)

3Pl | nyabiH orbIThIN

BO3€eH OrbiITbIN

‘to be’: In the simple past tense Il the appropriate forms of the verb auaw (-am) ‘to be, to
become’ are regularly employed instead of those of yaaw (-am) ‘to be’. The usual forms of ‘to

be’ in this tense are thus as follows:

Positive

Negative

1Sg | AaniibiHam

JINbIH OMbIN

2Sg | nunbiHaT

JINNbIH OTbIN

3Sg | nnitbiH

JINbIH OrbiN

1PI JIMMbIHHA

JINVibIH OorbliHan (oHan)

2Pl | cvitbiHAaA

NNiAbIH orbigan (oaan)

3PI JINABIHBIT

JNINIAbIH OTbITbIN

Usage: Compared with the simple past tense |, the simple past tense Il is used for actions
further back in the past that are now remoter from and less connected with the moment of

speech.

Tyno TeHTeYE TO/bIH, KbI3bIT KUHOLL
KalblL.

He came yesterday; now he went (has
gone) to the movies.

Tyno yublna KasaceH.
TbIt MOM KanacblLbly?

He said everything.
What did you say (just now)?

Whether the speaker considers an action in the past to be connected with the moment of
speech is, of course, subjective. Thus, in the following dialogue with two references to the
same action the first speaker is connecting the action with the moment of speech while the

second one is not.

— Tbilh KyHaM TO/1bbIY?
— MblIit TeHTeYe ToblHaM.

— When did you come?
— | came yesterday.
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IV. Words and word usage

1. sesne — ebiHa:

Both words can mean ‘only’ and come after the word they refer to.

Woin LLIVprM OXXHO TeJibiIMm BeNE KOYKbIHbIT.

In former times they used to eat meat soup
only in the winter.

MK KHMram rbiHa Ha/bbIM.

| bought only one book.

A navipemnaH MOM rblHa Mapuii BaTe OK
KY3LUT.

And on holidays just what (what only)
doesn’t a Mari woman bake!

2. mypad-mypnad ‘all kinds of, varying, diverse’:
This word (<mypné ‘different’) is a good example of reduplication with an intensifying nuance,
see 3.IV.4. (page 73).

3. -1aH + NosAH:
The adjective nosH ‘rich’ is used with the dative case in the sense ‘to be rich in something’.

Mapuii Yyoabipa NOHTbIIAH NOAH. The Mari forests are rich in mushrooms. |

4. ycmembasnHe ‘on the table’:

The word jcmembanHe ‘on the table’ and jcmembak(e) ‘onto the table’ — see 6.IV.1. (page
101) —are the result of the melding of the word ycmes ‘table’ with the postpositions ymbak(e)
‘onto’ and ymbasnHe ‘on’. These postpositions will be discussed in more detail in 16.111.1. (page
209). These words can take possessive suffixes: mapuli-enaksiH yjycmembanHsiwum ‘on the
Maris’ tables’, etc.

5. meleaii — myeati ‘such a (one), this/that kind of’:
These two words are similar in meaning, but differ in what they refer to: mereadii ‘this kind of,
such a ... (like this)’, myeati ‘that kind of, such a ... (like that)’.

6. ibpameH:
This gerund from Giépamaw ‘to like, to love’ is often paired with a verb to denote that one

likes to do something: li6pamen aydaw ‘to like to read’, libpameH koukaw ‘to like to eat’.

MbI Mmapuii pagmo nepeaaybim nopaTeH
KOANbIWTaM.

Tyno Kon wypbim NOpaTeH KovKeLw.
Moua-Bnak B. KonymbbiH noyenamyTLlbim

nopaTeH NyaplT.

| like to listen to Mari radio programs.

(S)he likes to eat fish soup.
The children like to read Valentin Kolumb’s
poems.

V. Exercises

1. Form the active participle of the following verbs.

wonTaw canamnau nopaTaL nyaw
Hanaw nypauw Kenwadu lwovaltu
woraw BO3aLl (-em) KOJbiWTalw blLUTALL
yKanaw TYHbIKTaLL *manaw TyHanaw

* manaw (-em) ‘to sleep’
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2. Form constructions with the active participle. Example: lioya — wykxo KHuzam ayoaw > wWyKo
KHU2am nyouwio tioya

1) BYA[— wonaw nypaw 5) yHa — *ycTentopbIwTd WNHYaLL
2) eH — WYKo KyTblpaw ropaTaL 6) 1oyYa — WyprbiMm MyLuKaLl

3) WoAnTaw — MblIaHeM Ke/waly 7) TYHbIKTbIWO — NallaLl BallKaLl
4) yablp — *apaeHe apak KblH enaww 8) nyweHTe — yKapraw TyHanaw

* apdeHe apak ‘early in the morning’, ycmeamépoiwmé wurYyaw (-em) ‘to sit at the table’

3. Form the passive participle of the following verbs.

WMHYanTaw nypa wovaLu Hanaw
nopaTaw Keswaly Aamablnaw wonTaw
KyawTaww Bo3auw (-em) novatu TyHanaw

4. Give negative answers to the following questions. Example: Lypeim wuH4anmsime? — YKe,
WUHYaamMsIMe 02bin.

1) Nawam Teproime? 4) KeBbITbiIM NOYMO?
2) LWo6pbim WonTbimo? 5) *CepblwbiMm BO3bIMO?
3) MenHam KkyawTme? 6) KuHabim Hanme?

* cepoiw ‘letter’

5. Read the following dialogues and then rewrite them using the words given.

a) —  *[a3eTbiliTe MOM BO3bIMO?
— Llyko *oHalibiM BO3bIMO.

*)ypHan — oHat *cmames
b) — YagaliHbIH *npoun3BeaeHnixKbiM Morai hbliMbil *Kycapbime?
—  *H’embly, *dpaHuys, BeHrp, ¥*aCTOH Aa MO0 MbI/IMbILLKAT.

— A *pyuw Mblambiw Kycapbime?
—  Kycapbime.

B. Konymb — seHep, H’embly liblame

* 2a3em ‘newspaper’, owali ‘interesting’, #ypHan ‘magazine’, cmamea ‘article, essay’,
npouseedeHuli ‘work(s)’, kycapaw (-em) ‘to translate’, H’'emobiy ‘German’, ¢ppaHyy3 ‘French’,
acmoH ‘Estonian’, pyw ‘Russian’

6. Translate the following participial expressions.

1) "oOpaTbime MonTaLl 8) Kenwbime MonTaLl
2) wonTbiMO BYA, 9) BO3bIMO cepblLL

3) Hanme nonek 10) nybimo nonek

4) BYYbIMO Kan 11) KyawTme menHa
5) nyamo KHura 12) amgbinbime nawa
6) KowWwTMO *KOpHO 13) noymo KesbIT

7) KOAbIWTMO MYT 14) norbiMmo Kuap

* kopHoO ‘road, way, path’
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7. Which of the two participles in parentheses is appropriate when used with the noun that
follows?

1) (KyawTme, KY3LwWTLWeE) KOrbIIbO

2) (nyawo, nyamo) *cTyneHT

3) (yKwo, y»KMmO) yHa

4) (nnbime, nnbiwe) Bep

5) (wonTbIMO, WOATLILWO) Yal

6) (4yoHewTblWwe, YOHELWTbIME) KalbIK
7) (blwTbiMe, bIWTbIWE) NaLIA

* cmydeHm ‘(university) student’

8. Form positive and negative sentences using the construction ‘passive participle +
possessive suffix + wyaw’. Example: moili, koukaw > MbllibiH Koumem wyawl. MollibiH Koumem
OK Wy.

1) MbIn, e4ye geHe MyHYanTaw

2) TbIR, cepblwbiM BO3aLl

3) TyAo, KHMram nyaaiu

4) me, *KMHOLW Kaaw

5) Te, *pagnom KosnbliwTall

6) HYHO, MOHTBIWTO WKHYALW (-em)

7) TYHbIKTbIWO, TYAbIH A€HEe KyTblpaLy
8) duaH, TyabIm ByyaLl

9) *psese-BNaK, 3pAeHe 3paK KbiH enall

* KuHo ‘movie theater; movie’, paduo ‘radio’, psese ‘boy; young’

9. Rewrite the following sentences replacing meoili with the other five personal pronouns.

1) Mbi *aneww woybliHam.
2)  Mblii WYPbIM WMHYANTEHAM.

* an ‘village; countryside’

10. Put the following text into the simple past tense Il.

Koyam anbiwTe mna. Ty4o WKOALIWTO Nawam bilwTa, WKe nawaxbim nopaTta. YblnaH
MbIbIH KO4Yam *naranar.

* naeanaw (-em) ‘to respect, to honor’

11. Put the following sentences into the simple past tense Il.

1) Mwuyy 6ubamnoTekbiw Kaa. Tyao TyWTO KHUram HaneLw.

2) Eny poabiXbim WKe aekwe {Kew. Tyao Tamse NoHTO WypbIM WOATa.
3) 3yaH WKOANbIWTO caliblH TYHEMELL.

4) KoK apHAawTe nym wyna.

5) VYabip pywapHaH eye AeHe MyH4YanTa.
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12. Put the verbs in parentheses into the simple past tense Il

1) Tyno noaxorbinbbiM (KOYKaLL).

2) Mbliit coBna AeH Ky3bim (Hanaw).

3) WMoua eybinaH okcam (Tynau).

4) S4yaHnaH MOHTbIWKO Kaaw (BepeluTaw).

5) Me WKHYaNnaHwWyao KorbibbiM TamneH (oHyaL).

6) WonTtawem *CaHKT-MeTepbyprbilw *camonéT AeHe YoHewTeH (KaALw).

* CaHKkm-lemepbype ‘Saint Petersburg’, camoném ‘airplane’

13. Reply to the following requests not to do something by saying that you have already done
it. Example: LWuH4Yansim um neliwume. > Melil nelwumeHam.

1) Pyawbim 1T nyro.

2) KoHram oH4anaw UT MOHAO.
3) Byabim uT wonTo.

4) Taye menHam UT KyaLWT.

5) *ManbToaTbiM UT KyaalL.

6) *OkHam uT nou.

7)  KuHabim uT Kou.

* nanbmo ‘(over)coat’, okHa ‘window’

14. Rewrite the previous exercise, putting the verbs in the imperative sentences into the
second person plural and replying in the first person plural. Change the possessive suffix in
sentence 5 accordingly. Example: LLur4yansim uda neiwume. — Me nbiwimeHHa.

15. Complete the following dialogues putting the verbs given into the simple past tense Il in
the appropriate person.

a) —  Tblii TEHTEYE KMHOLWI MUeHaT?
- . (MnawWw)
— Mowm Bapa oH4yeHart?
—  A. TapKOBCKuIbIH «AHApel Py6nés» nymaH *dinbmbiM ... . (OHYaLW)
—  Tuae ¢ovnbm TbinaHer ... ? (Kenwad)
—  New .... (Kenwatu)

b) —  Woumo KeublKeT KOM y¥KbIHAT?
—  VYabip MonTawembim ... . (yKatu)
—  ABaT morai Korbi/ibbIM ... ? (KyawwTaw)
— MapeHre KOrbl/bbIM ... . (KyawTaLwy)

* gpunem ‘film, movie’

16. Rewrite the following sentences replacing meili with the other five personal pronouns.

1) MbI TMAE KHUTAM Ha/lbiH OMbIA.
2) Mblii TMAE Nalam TepreH Ombli.
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17. Negate the following sentences.

1) Mo Tyapim Tave *y»KbiHam.

2) Me TUAbIH HepreH KyTbipeHHa.

3) MonTawem MbliibiM LIOYMO KeYem AeHe canam/ieH.
4) TeHreue Nyp NYpbIH.

5) TMowKyAo MblnaHem cav KaHalbiM My3H.

6) TbIi NawaTbiMm NbiTapeHar.

7) Mo *WwonbbiMNaH YPOKbIM biLUTaLL NOWEHAM.

* yucaw (-am) ‘to see’, wonvo ‘(younger) brother’

18. Give negative answers in the simple past tense II.

a) — TbIV Taye TyAblH A€HEe YPOK HepreH KyTbipeHaT?
—VYKe, .... (KyTblpaLwu)
— MonaHn?
— MbIit TyapIm Taue ... . (y»Kaw)

b) — Tbilh Taye KOYKbIHAT?
—VYKe, ... . (Koykaw)
— MonaHn?
— Koumem ... . (wyaw)

c) —Te (Pl.) wyKo Kosbim *KyyeHaa?
—VKe, ... . (Kyyaw)
— MonaHn?
—Kon ... (*uyHraw)

d) —Te (Sg.) TeHTe4ye *napkbiw mneHga?
—VKe, .... (Mnaw)

— MonaH?
— Xan ... (amauw)

* kyyaw (-em) ‘to catch’, uyHeaw (-em) ‘to bite’, napk ‘park’

19. Translate the following sentences into Mari asking your friend why (s)he didn’t do various

things. Use the simple past tense Il.

1) Why didn’t you catch any fish? /konbim kyyaw/
2) Why didn’t you talk with Echan about the lesson?

3) Why didn’t you put the book back in its place? /eepbiw noiwumaw/
4) Why didn’t you return in time? /»xansiwume népmeinaw/

5) Why didn’t you invite your (younger) brother?

20. Translate the following sentences into Mari in which a teacher asks a wayward student

why (s)he didn’t do various things. Use the simple past tense II.

1) Why didn’t you do the exercise? /ynpax;cHeHuli/
2) Why didn’t you read the text? /mekcm/
3) Why didn’t you write the essay? /coyuHeHudii/

4) Why didn’t you prepare for the lesson? /ypoknax amosinanmauw/

5) Why didn’t you help your friend?
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21. Replace the words in parentheses with the appropriate adverbs in -cex.

1) Toii Tyabim (KyHam) nanet? — (O¥XHO).
2) Te (KyHam) nawam biwTega? — (dpaeHe).
3) Te (KyHam) yHam Byyepa? — (TeHreue).

22. Translate.

1) CanaeBMbIT Keye MyYKO CagbllTe Nallam blLUTEeHbIT.
2) Tadye Ocbin new *nuanaH: Koa noyew Kobim Kyya.
3) MuKywbIH BaTbiXKe *MOPKO KYHAEM Tbiy.

4) MupoH Yoablpa HepreH Besie KyTbipalw nopara.

5) Tene my4yko MYLWITO Keye *LorbiLL.

6) PuMma naanbik My4Ko MOATALWbIKbIM *ByYeH UAbILL.

* nuanax ‘happy’, Mopko ‘(town in Mari El, Russian Mopku)’, wozaw (-em) ‘(in connection
with weather conditions) to be’, syuer unaw (-em) ‘to wait (for a longer period)’

23. Insert the following words into the appropriate sentence in their proper forms: ko,
MOH20, MNApPK, 400bIPA, BUMAMUH.

1) MemHaH KyHAeMm ... NOAH.
2) MeMmHaH 3Hep ... NOAH.

3) MemHaH Yyoabipa ... NoAH.
4) MoyKanTbiw Wyp ... NOAH.
5) Wowkap-Ona ... noAH.

24. Answer the following questions.

1) Tbihi MOM Ko4HeT? (mapeHTe KOrbi/ibO, MOHTO KOrblJbO, MOAKOrbI/bO,
nynalwKamyHo)

2) ABaT MOM LWOATEH? (NOHTO WYpP, WbIA WYP, NOYKANTLIW LWYP)

3) Te (Pl.) wbiKbIM MOM WYbIKTbIHEAA? (KMAP, KOBbLILWTA, MOHTO)

25. Answer the following questions about the text Mapuli-esnak mom Koukeim?.

1) Mapwii KanblKbIH UAbILWbIXKE MO AeHe KblNganTbiH?

2) Mapuin-BnaK WOoLbIM MOran WYpPbIM LWONTEHbIT?

3) MMoYKanTbiw WYp MOAH NOAH?

4) Kon ga noHTo WypbiM Mapuii-BNaK KYHAaM KOYKbIHbLIT?

5) Morali KOUKbILWbIM MapUii-B/aK 3pe NOpaTeH KOYKbIT?

6) LWO6p Aa MyHO AeHe MapUit-BNaK MOrai KOYKbILWbIM AMAblNaT?
7) MNanpemnaH mapuii BaTe MOM AMAbINA?

8) OpbeH BaTblH YCTa/bIKWbIM MAapUii-BNaK MO AeHe TepraTt?

26. Write down the dictation.



